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To solve this puzzles, create a single closed loop throughout the grid. The digits represent the number of adjacent grid 
lines that form part of the loop. The loop must not contain any intersections of 3 or more lines or any dead-ends.

1 2 3 1 1 3 1 2 3 2 1 2 1 1 1 1 1 3 2 1 0

3 1 1 1 1 1 1 2 2 3 1 1 1 2 1 1 1 2 2 2 1

2 1 1 3 0 2 2 1 0 2 1 1 1 2 1 2 3

2 1 1 1 2 1 1 1 2 2 2 3 2

2 1 1 2 2 2 1 1 1 2 1 3 3 2 1 3

2 1 1 2 1 2 3 2 2 1 2

1 0 1 1 2 1 1 2 2 1 1 1 2 2 2

0 2 2 1 1 2 1 1 1 3 2 3 1 2 1 2 1 1 2 2 1 2 1

3 2 0 1 2 3 1 1 1 1 2 3 1 3 2

1 0 1 2 2 1 1 1 1 1 1

3 3 3 2 2 1 1 1 1 0 3 2 1 0 1 1

1 0 2 1 1 1 1 2 2 3 1 3 3

0 1 2 1 1 3 2 1 0 1 1 2 2 1 1 2 2

1 2 1 0 1 1 2 1 2 2 1 0 2 2 2 1 2 1 0 1 2

3 2 1 1 2 1 3 1 0 1 2 2 2 2 1 2 1 2 2 1 2


